Figure 7.2. Using the 2x2 table to look for trends in the data
Remember that an odds ratio is calculated from a 2x2 table:
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· The odds ratio will be greater than one when a x d > b x c. 
In other words, the odds ratio increases when the counts in “a” and “d” cells (exposed cases and not-exposed controls) increase or when the counts in the “b” and “c” cells (not-exposed cases and exposed controls) decrease.

For large odds ratios: 

· Case counts need to exceed control counts for each exposure

· Control counts need to exceed case counts for each non-exposure

· Try to use all study sample subjects by using all the responses to the question except don’t know/not sure to define exposed and not-exposed, and by selecting everyone for the study population (unless your hypothesis is specific to men alone or women alone).  This will result in smaller confidence intervals, which means that your odds ratio will be closer to the “true odds ratio” for the entire population. 

